Handout 4: Irrational to the Core

. Solve y = 3% + 2% 4+ 1 for x = 3.

. Solve y = logs(5z) + log e” for x = 2.

. Solve y? = log x? for x = 5.

. Solve y = log,(162?) for x = 4 without
a calculator.

. Solve y = In(4€?).

. Simplify and solve 10°*¥ = 100(>*)
for x = 2 without a calculator.

10.

Simplify and solve y = 6°8 (22) for
x = 4 without a calculator.

. Simplify and solve 4y = Ine(15*+Y) for

x = 3 without a calculator.

Simplify and solve y = log,(497%*) for
x = 4 without a calculator.

Solve y = en@et?) 4 9p(logio16) _
2log (3z) for x = 5.
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